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GDP of Kores(2000-2016)

b1-ch3-1.py

import pandas as pd # pandas packageS 0| &
samplel = pd.read_csv("http://kanggc.iptime.org/book/data/csv_samplel.csv")
samplel

year = samplel['year']

gdp =samplel['gdp'] 2002 2004 2006 ig? 2010 2012 2014 2016

consumption = samplel['consumption’]
Consumption of Kores(2000-2016)

import matplotlib.pyplot as plt # matplotlib.pyplot package= O| &

import seaborn as sns # seaborn package% 0|

=
=
=
£
=]
2
g

sns.lineplot(data=samplel, x="year', y='gdp').set(title="GDP of Kores(2000-2016)')
plt.show()

H — 1 voygy=t! H L H ! ' i = T T T T T T T T T
sns.lineplot(data=samplel, x="year', y="consumption', linestyle='dashed’).set(title= oD 2002 2oma  some  2o0me  ooin 2012 ona  2onn
year

Consumption of Kores(2000-2016)')
1e6 GDP and Consumption of Kores(2000-2016)

#fig = plt.figure(figsize=(10,7))
#fig, axs = plt.subplots(2, 1) # & 7f2| J2f| = E o If| 0| X|of| 2 &

fig, axs = plt.subplots(nrows=2)

2004 2006 2008 2010 2012 2014 2016

sns.lineplot(x="year', y='gdp', data=samplel, ax=axs[0]).set(title="GDP and Consum Jear

ption of Kores(2000-2016)')

sns.lineplot(x="year', y="consumption', data=samplel, linestyle='dashed',ax=axs[1])

2004 2006 2008 2010 2012 2014 2016

plt.savefig('C:/BOOK/pyBasics/pyStat/code/line.png') year
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b1l-ch3-2.py

import pandas as pd # pandas package= 0| &

samplel = pd.read_csv("http://kanggc.iptime.org/book/data/csv_samplel.csv")
samplel

year = samplel['year']

gdp = samplel['gdp']

consumption = samplel['consumption']

import matplotlib.pyplot as plt # matplotlib.pyplot packageS O| 2

import seaborn as sns # seaborn packageE 0| &

sns.histplot(data=samplel, x="gdp’, fill=False).set(title='"Histogram of GDP')
plt.show()

sns.histplot(data=samplel, x="consumption', bins=8).set(title="Histogram of Consumption')

#fig = plt.figure(figsize=(10,7))

#figure, axs = plt.subplots(1,2) # 5 71 2| Q2= E ot 1| 0| X|off 2 &

fig, axs = plt.subplots(ncols=2)

sns.histplot(x="gdp', data=samplel, fill=False,ax=axs[0]).set(title='"Histogram of GDP and Con
sumption')

sns.histplot(x="consumption', data=samplel, bins=8, ax=axs[1])
fig.subplots_adjust(wspace=0.3) # 51 & 9| X 7t A2 =

plt.savefig('C:/BOOK/pyBasics/pyStat/code/hist.png')
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b1-ch3-3.py

import pandas as pd # pandas package= 0| &

samplel = pd.read_csv("http://kanggc.iptime.org/book/data/csv_samplel.csv")
samplel

year = samplel['year']

gdp = samplel['gdp']

consumption = samplel['consumption']

import matplotlib.pyplot as plt # matplotlib.pyplot packageS O| 2

import seaborn as sns # seaborn packagem% o2

sns.scatterplot(data=samplel, x="gdp’, y="consumption').set(title='Scatter plot of GDP and Consumption')

#fig = plt.figure(figsize=(10,7))
plt.savefig('C:/BOOK/pyBasics/pyStat/code/scatter.png') Scatter plot of GDP and Consumption
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B1-ch3-4.py

Boxplot of mid

import pandas as pd # pandas packageS 0|2

samplel = pd.read_excel("http://kanggc.iptime.org/book/data/stat-1.xIsx")
samplel

samplel.info()

mid = samplel['mid']

final = samplel['final']

total = samplel['total']

grade = samplel['grade']

import matplotlib.pyplot as plt # matplotlib.pyplot package= 0| &
import seaborn as sns # s

sns.boxplot(data=

plt.show()

sns.boxplot(data=sample

plt.show()

sns.boxplot(data=samplel, x= -set(title="Boxplot of total')

plt.show()

fig = plt.figure(figsize=(12,7))

#figure, axs = plt.subplots(1,3) # Al 72| Q2= E ot | 0| X|off 2 &

fig, axs = plt.subplots(ncols=3)

sns.boxplot(y="mid', data=samplel, ax=axs[0]).set(title='"Box plot of Test score')
sns.boxplot(y="final', data=samplel, ax=axs[1])

sns.boxplot(y="total', data=samplel, ax=axs[2])

fig.subplots_adjust(wspace=0.6) # 512l 9| Xt

plt.savefig('C:/BOOK/pyBasics/pyStat/code/box.png')
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B1-ch3-5.py

B1-ch3-5.py(Al %)

import pandas as pd # pandas package= O|&

samplel = pd.read_excel("http://kanggc.iptime.org/book/data/stat-1.xIsx")
samplel

samplel.info()

mid = samplel['mid']

final = samplel['final']

total = samplel['total']

grade = samplel['grade']

#frequencies of each value in grade

#grade.value_counts()

print("Frequency of Grade is : ",f'\n{grade.value_counts()}\n')
import matplotlib.pyplot as plt # matplotlib.pyplot package= O| &
import seaborn as sns # seaborn packagemS 0|-&

# ot= 0| MX|X| A Bt7|

import matplotlib

from matplotlib import font_manager, rc

font_path = "/Windows/Fonts/malgun.ttf"

font = font_manager.FontProperties(fname=font_path).get_name()
rc('font’, family=font)

matplotlib.rcParams['axes.unicode_minus'] = False

data =[4, 11, 11, 16, 9, 5, 3, 1]

—_1 | =t | it | i | i | i | = =
=265 ,'3e5'45=",'5c5",'6c5",'7a5",'8c

keys = ['1&
# define Seaborn color palette to use

palette_color = sns.color_palette('bright')

# plotting data on chart

plt.pie(data, labels=keys, colors=palette_color, autopct='%.0f%%')
plt.title("Pie Chart of Test Score")

# displaying chart

#plt.show()

plt.savefig('C:/BOOK/pyBasics/pyStat/code/pie.png')
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b1-ch3-6.py

import pandas as pd # pandas packageE O|-&

samplel = pd.read_excel("http://kanggc.iptime.org/book/data/stat-1.xIsx")
samplel

samplel.info()

#frequencies of each value in grade

df_samplel = samplel.groupby('grade’, as_index = False).agg(n=('grade’, 'count'))
df_samplel

print("Frequency of Grade is : ",f'\n{df_samplel}\n')

import matplotlib.pyplot as plt # matplotlib.pyplot package= O| &

import seaborn as sns # seaborn packagem= ol

sns.barplot(data=df_samplel, x="'grade’, y="n').set(title='Bar Chart of Test Scorel')

plt.savefig('C:/BOOK/pyBasics/pyStat/code/bar.png')

Bar Chart of Test Scorel




bl-ch3-7.R

import pandas as pd # pandas package= 0|2

samplel = pd.read_excel("http://kanggc.iptime.org/book/data/stat-1.xIsx")

print("Data of samplel is : ",f'\n{sample1}\n')

mid = samplel['mid']
final = samplel['final']
total = samplel['total']

grade = samplel['grade']

import stemgraphic # stemgraphic package% ol

#create stem-and-leaf plot

fig, ax = stemgraphic.stem_graphic(total)
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